aumﬁ"er. FrRAME BRACKETS AND CASEMENT BRACKET (SET)

INSTALLATION STEP 3: FRAME BRACKETS AND CASEMENT BRACKET (SET: ScHUCO + RAICO)

Frame bracket (Set: Schiico) Casement bracket (Set: Schiico and Raico)

o Frame bracket K153 (for Schiico)
@ 1x Frame bracket - part left
© 1x Frame bracket - part right

Casement bracket F54

1x Baseplate

2x Bearing block

4x Screw M5x30

1x Chain storing

1x Cylinder head screw M5x30

@6,5x10,5

Q60000

Frame bracket (Set: Raico)

0 Frame bracket K154 (for Raico)
@ 1x Frame bracket - part left

© 1x Frame bracket - part right

@ 1x Mounting block

for screws M6 m
@6,5x14,5 05,5
26,5x11,5 @8 (2x)

NorTE Screws ) - for mounting on the window -
are to be provided by the customer!
—— for screws M5 @ ?
2 Dr—o %
Symbol: center
casement bracket

‘ 145

Assembly Instruction
14 KS15S12 24V DC



APPLICATION EXAMPLES aum u I Ier [

APPLICATION EXAMPLES

o
©
‘
y 4
A
N
©
i
To increase the profile statics,
v equip the window with additi-
onal stiffening elements.

reference edge

on-site facades
connection

To increase the profile statics, equip the window
with additional stiffening elements.

Assembly Instruction
KS15S12 24V DC




aumuller. HoLE LAYOUT FOR FRAME BRACKETS AND CASEMENT BRACKETS

InsTALLATION STEP 4: HoLE LAYOUT FOR FRAME BRACKETS AND CASEMENT BRACKETS

See:
Q INSTALLATION STEP 5 - 7> To increase the profile statics, equip the window

with additional stiffening elements.

S
7>

1/2 FAB | 1/2 FAB
321,5 ( 800 stroke) 80 321,5 ( 800 stroke)
381,5 (1000 stroke) i 381,5 (1000 stroke) o
; F54 ~
i <
; £
o
0

25 ‘ 723 ( 800 stroke) 843 (1000 stroke) ‘ 25

800 ( 800 stroke) 920 (1000 stroke) |

To increase the profile statics, equip the window
with additional stiffening elements.

800 ( 800 stroke) 920 (1000 stroke)

25 | 723 ( 800 stroke) 843 (1000 stroke) | 25

min.

85

F54

321,5 ( 800 stroke) 80 321,5 ( 800 stroke)
381,5 (1000 stroke) 381,5 (1000 stroke)
1/2 FAB 1/2 FAB

min. 17,5

Assembly Instruction
16 KS15S12 24V DC




